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Exercise 1Imagine we instead of doubling the slips of the unhappy house owners in the Swiss Algorithm,would multiply their number by some integer t 2 N. Does the analysis of the algorithmimprove (i.e., does one get a better bound on the expe
ted number of rounds, following thesame approa
h)?
Exercise 2We have shown that for d = 2 and sample size r = 13, the Swiss algorithm takes an expe
tednumber of O(logn) rounds. Compute the 
onstants, i.e., �nd numbers c1, c2 su
h that theexpe
ted number of rounds is always bounded by c1 log2 n + c2. Try to make c1 as small aspossible.


